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SN BA(SA) - MRAY - BES 0l &t o il HImEET
FHEXH 26,484,187 29,592,424 A 3,108,237
= 20,104,049
< 1,834,915
Al 4,545,223
FHEXNSH 26,425,259 29,548,656 A 3,123,397
= 20,104,049
< 1,834,915
Al 4,486,295
FHATX A 23,415,399 26,747,200 A 3,331,801
= 20,098,349
< 1,563,205
Al 1,753,845
FH=W 22,331,499 25,662,700 A 3,331,201
= 20,098,349
= 1,563,205
Al 669,945
301 LEEAF 20,831,499 24,162,700 A 3,331,201
= 18,748,349
< 1,458,205
Al 624,945
01 AR 2Z A5 3 20,831,499 24,162,700 A 3,331,201
OMASE FAHASWH(YXU=A) 20,831,499
= 18,748,349
< 1,458,205
Al 624,945
403 XSS A=0l& 1,500,000 1,500,000 0
= 1,350,000
= 105,000
Al 45,000
02 S 2SO HEAE R E AL H 1,500,000 1,500,000 0
OMASE FAHASWH(=ERX) 1,500,000
= 1,350,000
< 105,000
Al 45,000
FHENRAE 29 1,500 1,500 0
201 Let2d] 1,500 1,500 0
01 At 22l 1,500 1,500 0
OFH=XAE2 28+ 1,500
=8 FHEINUHERZ 2 5,000 5,000 0
201 Let24dH] 5,000 5,000 0
01 At 22/l 5,000 5,000 0
O&=d FAH=ANUERI 294 5,000
FHEN g2 =4 2,000 2,000 0
203 R =&l 2,000 2,000 0
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03 A F=XH R =ZH| 2,000 2,000 0
OFNHEX2E 22 = 2,000
FHEX MdlA 2s&t 12,400 10,000 2,400
201 LBt 12,400 10,000 2,400
01 At 22l 10,000 10,000 0
O=F=AH=X MHA 23t 10,000
02 =224l 2,400 0 2,400
OFAH=RX MUA 23 2,400
HEeE -2 REAMHIA XE 4,000 1,000 3,000
201 Let24] 4,000 1,000 3,000
02 =224l 4,000 1,000 3,000
OF=PIEa] 1,000
OgereH 3,000
SEAMHOIIE =&H] X& 600,000 600,000 0
403 XA SA=0l& 600,000 600,000 0
02 SO 2SOICHEH A2 X 2| &AM I 600,000 600,000 0
SSUHOIIIE =&Hl XA 600,000
HASHE 2UHES=S N 400,000 400,000 0
501 Xt= 400,000 400,000 0
01 22t8Xt= 400,000 400,000 0
OMASHNE LdUHEES XA 400,000
SRAUOIME MIIRa K& 54,000 60,000 A 6,000
301 LEPEXS 54,000 60,000 26,000
01 MEIBEE 2053 54,000 60,000 A 6,000
OFFYUUOIE HMIIeZ X 54,000
O XIH ™ A 5,000 5,000 0
201 Let24d] 5,000 5,000 0
01 At 22l 5,000 5,000 0
O0NUXIEIR™ At 5,000
HAAS =HSZMA 2,658,400 2,410,200 248,200
= 5,700
< 271,710
Al 2,380,990
NASHE =28 HE= 480,000 1,000,000 A 520,000
< 192,000
Al 288,000
101 @14 Hl 220,000 450,000 230,000
< 88,000
Al 132,000
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04 JI2ZtHIZ2 2 NEES 220,000 450,000 A 230,000
ONASEHE &Y HES 220,000
= 88,000
Al 132,000
206 M = dl 250,000 550,000 A 300,000
= 100,000
Al 150,000
01 X2 8| 250,000 550,000 A 300,000
OMASHES 5T YPES 250,000
o=t 100,000
Al 150,000
401 AlEHIZ 2 0HY| 10,000 0 10,000
= 4,000
Al 6,000
01 Al&H| 10,000 0 10,000
OMASEHSES E&EFHY HES 10,000
= 4,000
Al 6,000
HF=E A= 23 1,000,000 1,000,000 0
401 Al HI L 2 THHI 1,000,000 1,000,000 0
01 Al&EH| 1,000,000 1,000,000 0
OFFTE AMIFEH B3 1,000,000
HFEE A= 2 FH =4 5,000 5,000 0
201 et d| 5,000 5,000 0
01 AP 2t 2] H| 5,000 5,000 0
OASFE MPEE 1,320
OMIIEHZBHF=M FH23 LAY 1,160
OAMEFE A8 AMAREE AAIE 2,520
HEHUAUESY 2 19,000 0 19,000
201 et d| 13,000 0 13,000
01 A2t 2| bl 8,000 0 8,000
OFEMLUAN=&H EE 1,000
Os2)| 22l L HAEES 4,600
(OF=EAg=3e: 2,400
02 2=2=24%4| 5,000 0 5,000
02222 <2 HA 4,600
O&SET 24+H ¢ XMl 400
401 Al HI YL =2 Tl 6,000 0 6,000
01 A& H| 6,000 0 6,000
O+ H KXY 6,000
AR AFSE =R K& 53,000 0 53,000
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201 Bt 20,000 0 20,000
01 AP 22| H| 20,000 0 20,000
OFNHXN MM At 20,000
203 €2 F=&d| 3,000 0 3,000
03 AIEHF=A A2 F X 3,000 0 3,000
O AH2ted
2o 3,000
301 et A =2 30,000 0 30,000
12 JIEtE A= 30,000 0 30,000
OFHMM 52 30,000
NESFAHX 222 &H 800,000 0 800,000
401 Al HI L £ 0HHI 800,000 0 800,000
01 Al& H| 800,000 0 800,000
ONEFTAHX =222 800,000
HIE AHHAIS 260,000 240,000 20,000
o 78,000
Al 182,000
401 AlEHIZL 201 Y| 260,000 240,000 20,000
o= 78,000
Al 182,000
01 Al&H| 260,000 240,000 20,000
OH - 22 &4l 260,000
& 78,000
Al 182,000
BIMESHE 24 30,000 0 30,000
201 LBt | 30,000 0 30,000
01 AP 22| d| 30,000 0 30,000
ol 29 30,000
SHE HOQI=& =X 11,400 15,200 A 3,800
= 5,700
=} 1,710
Al 3,990
402 SI2F 20| & 11,400 15,200 A 3,800
= 5,700
= 1,710
Al 3,990
02 CI2ZEXI2 ALE B X (0l & TH 11,400 15,200 A 3,800
OsHE HOfQ! 11,400
= 5,700
& 1,710
Al 3,990
ot A A 351,460 391,256 N 39,796
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oHIlotSA A 351,460 391,256 A 39,796
201 ¢er24l 130,460 130,460 0
01 At22t2l bl 106,860 106,860 0
O I ot A At 106,860
@diliotAME 2| 40,000
O==Z=HMA 3,500
@ISt AME So1ZH| 2,400
@@=l 3,360
[_DNE=S=DUE=d 57,600
02 2324gHl 21,600 21,600 0
OdflIlotEA SS2EH| 21,600
023238l ¥ MAl 12,000
[ D= galgsll 9,600
03 & ArZ2 ZHl 2,000 2,000 0
FHeZNE 2 (FA==E 2,000
202 044l 6,000 6,000 0
01 SLHOYI 6,000 6,000 0
OOGHIIBHRA At 6,000
206 M= Hl 140,000 140,000 0
01 M= 4l 140,000 140,000 0
Ol Il ot A At 140,000
@ A HI A XK 118,000
@ =01 E 0 At 20,000
@xXEied F&XE 2,000
401 AlEHIZ 20 HI 75,000 70,000 5,000
01 Al& I 75,000 70,000 5,000
ontsSiHe sl 25,000
OsMHE AHE 50,000
HHSABY (FHSD) 58,928 43,768 15,160
J2ZHI(F=AH=ER ) 58,928 43,768 15,160
2B (FAHA=SX 1) 58,928 43,768 15,160
201 ¢er24| 27,968 20,608 7,360
01 AF2 22l 27,968 20,608 7,360
OBt~ 15,200
O =&l 12,768
202 Oddl 27,360 20,160 7,200
01 = LH 4 Hi 27,360 20,160 7,200
OJl=gRFd 27,360
203 YR =&t 3,600 3,000 600
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04 EAN2I LRI 3,600 3,000 600
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